#7 Solving Equation  Pre-Calculus
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SOLVE EACH! NO GRAPHING ON THE CALCULATOR!!
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Solve each QUADRATIC equation by FACTORING!
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Solve each QUADRATIC equation using the  QUADRATIC FORMULA! Leave answers in SIMPLIFIED RADICAL form.
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Solve the following POLYNOMIAL equations.
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Solve the following RADICAL equations.
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Solve the following RATIONAL equations.
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Solve the following ABSOLUTE VALUE equations.
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Solve the following EXPONENTIAL and LOGARITHMTIC equations.
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 Solve the TRIGOMETRIC equations on the interval 
[image: image39.wmf]02

x

p

££

 .
	39. 
[image: image40.wmf]1

sin

2

x

=

 
	40. 
[image: image41.wmf]tan1

x

=


	41. 
[image: image42.wmf]2cos10

x

-=



	42. 
[image: image43.wmf]2sin20

x

+=


	43. 
[image: image44.wmf]cos1

x

=


	44. 
[image: image45.wmf]csc2

x

=-




_1523712550.unknown

_1523714428.unknown

_1523715992.unknown

_1523716571.unknown

_1523716751.unknown

_1523716804.unknown

_1523716859.unknown

_1523798256.unknown

_1523716831.unknown

_1523716773.unknown

_1523716670.unknown

_1523716724.unknown

_1523716603.unknown

_1523716250.unknown

_1523716514.unknown

_1523716103.unknown

_1523715442.unknown

_1523715748.unknown

_1523715852.unknown

_1523715716.unknown

_1523715034.unknown

_1523715423.unknown

_1523714555.unknown

_1523714027.unknown

_1523714043.unknown

_1523714070.unknown

_1523714028.unknown

_1523712674.unknown

_1523712697.unknown

_1523712586.unknown

_1523712136.unknown

_1523712233.unknown

_1523712416.unknown

_1523712445.unknown

_1523712340.unknown

_1523712183.unknown

_1523712209.unknown

_1523712155.unknown

_1523710479.unknown

_1523710651.unknown

_1523712110.unknown

_1523710536.unknown

_1523709907.unknown

_1523709933.unknown

_1523709774.unknown

